ISC SEMESTER 2 EXAMINATION
SPECIMEN QUESTION PAPER
SANSKRIT

Maximum Marks: 40
Time allowed: One and a half hour

Candidates are allowed an additional 10 minutes for only reading the paper.

Answer all questions in Section A, Section B and Section C.

They must Not start writing during this time.

The intended marks for questions or parts of questions are given in brackets. [ ]

SECTION A - 13 MARKS

Question 1

(i)

(i)

(iif)

Disjoin the following Sandhis:
3TeETT: AT YeaA: Tieoese e |
(a) ECEEE

~

(b) & TR

Expound the following words giving the names of the compound:

ATIRIIT ZAT 9 fawrg Sheam qomae T 1Y foreq |
@  FUmEIRR

(b) TSI

Split the following words:

sTenferfaaa: gar- T SehfaseaRerTT % |

@ =

(b)) Ty

~

[1]

[1]

[1]



(iv)

v)

Change the voice of the sentences given below:

STeNTARGATT AT TR aT=d IiEaad |

(@) wT Wfdler e o |

(b) T T I=RTH: |

(©) O T T |

Change the Lakaar (tense) of the following:
HYIARGTET: GAT: SATFAT: TRR-TREA e |
(@) T: ST I I | (TL-TTHR)

() =T ferrt wew: | (faterfers)

Question 2

Translate the given passage into Sanskrit:

ANTARTTET AT HERAHTIAT HFTATE H

After acquiring the provinces west of river Indus from Seleucus, Chandragupta's
empire stretched across the northern parts of Southern Asia. Thereafter, began his
conquests in south, beyond the Vindhya Range and into the Southern parts of India.
Except parts of present day Tamil Nadu and Kerala, Chandragupta had managed

to establish his empire throughout India.

[3]

[2]

[5]



SECTION B - 12 MARKS

Question 3

Translate the given passage into English:

FNTARTTE TR ATSTANTIAT TS Ho

T Zcdl — BT o qUSish | STy ST aee Ui [AIhI-uTaeiy o Send et

OATRTRITISITAT | SeYHhIAHTET HETAT shitesiel: TRETEI eI | et ary:?

FT = YMYEINTG SEHUTH Wefedl: GARTY Y ; qAT HAT HIAH | TEHEAT At

eV 4 |l

Question 4

Translate the given verses into English:

AN TARGTAT: TSI SATSTANTAT TS Hod:

(i)

AR qU3 qUIeHaHEaq |
D D D ~

gt ST 8 T = T ||

(i) TSI A/ TEHTEded T Hiorsafd |
HeSg e TfSd o Sr=md 4 ||
Question 5

Explain the following with reference to the context:

HANTARGAAT: IFXUTAT: TFHTHASSAT UE SATEAT H6a:

(i)
(i)

YT W] d AT A IS <rerfeR |
T WY TeaTa: el |

[4]

[2]

[2]

[2]
[2]



SECTION C - 15 MARKS

Question 6

TEY: RIS FRTTREe SaEd feef: for srated 2

Question 7

e faetd formef =remy 2 e uid |

Question 8

() FSTHSE ST NS TRHE J[EHATST: e 2

31T (OR)

(i) <esTdlS: e o AT=ad ? AL = HgThUT Hiersral: <A d e Jofad ?

[5]

[5]

[5]



